
1 
 

MATHEMATICS DEPARTMENT 

SEQUENCE & SERIES | ARITHMETIC SERIES | HOMEWORK MEMO | 12/02/2021 

 

 
No 

 
Solution 
 

a.) 𝑎 = 7   𝑎𝑛𝑑 
 
𝑑 = 𝑇2 − 𝑇1 
𝑑 = 3 − 7  
𝑑 =  −4  
𝑡ℎ𝑒𝑛 
 
𝑇𝑛 = 𝑎 + (𝑛 − 1)𝑑 
𝑇𝑛 = 7 + (𝑛 − 1)(−4) 
𝑇𝑛 = 7 − 4𝑛 + 4  
𝑇𝑛 = −4𝑛 + 11 
 

b.) 𝑇𝑛 = −4𝑛 + 11  
𝑤𝑖𝑡ℎ 𝑛 = 30  
𝑇30 = −4(30) + 11 
 𝑇30 = −109 
 

c.) 𝑇𝑛 = −4𝑛 + 11 𝑤𝑖𝑡ℎ 
 𝑇𝑛 = −153 
−153 = −4𝑛 + 11 
 4𝑛 = 11 + 153  
4𝑛 = 164  
∴ 𝑛 = 41 
 

d.) 𝑆𝑛 =
𝑛

2
[2𝑎 + (𝑛 − 1)𝑑] 

𝑆50 =  
50

2
[2(7) + (50 − 1)(−4)]  

𝑆50 = −4550 
 

 


